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Q. 1. The following diagram shows 10 match-sticks forming three squares. What is the minimum
number of matches that must be removed to make two squares?

(a)3 (b) 2 (c)1 (d) 4
Q. 2. In the following question, select the odd letters from the given alternatives.

(a) DH (b) JN (c) mP (d) TX

Q. 3. A functional clock shows 10 am. How many degrees will its hour hand rotate to show 6
pm the same day?

(a) 120° (b) 240° (c) 360° (d) 550°

Q. 4. Direction: Read the given statement(s) and conclusions carefully and select which of the

conclusions logically follow(s) from the statement(s).
Statements:

Some roses are thorns.
All thorns are flowers.
No flower is a petal.

Conclusion:

l. No petal is rose.

I. Some flowers are roses.

(a) Only conclusion | follows.
(b) Only conclusion Il follows.
(c) Neither conclusion | nor conclusion Il follows.

(d) Both conclusions | and Il follow.
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v. 1. Fafafed foa o 10 mrfae ot <fifer & vl &1 i st 81 & aFf a9 & fod =gad
farat mnferg o ditferat &t e grme

(a)3 (b) 2 (c)1 (d) 4
¥, 2. Fafafad uy & fGu e fom el & 3 faws 3ieRry (3R 31&R) o1 Tg- B |
(a) DH (b) IN (c) MP (d) TX

7. 3. U fopamxiiel oS! gag 10 oot faard 7 | 3 a1 2 6 oot fom & fo saabt 9 @t
& foran feeht gt

(a) 120° (b) 240° (c) 360° (d) 550°

¥. 4. &= faU T SR(@ YY) SR Fhul o e gad Ug 3R g fob fau T w9
DIH-T1/3 Fhy T U § ARl HRdl/HRd & |

Y.

FERINICEICE

SRS
|

| IS Wt il erre el B
. P8 FATAE g

(a) ad FT5HY | SIERUT FRAT B |

(b) PaT FTSHY 1| TRV HRAT R |
(o) T fp | 3R T8 FAepy ) AT

(d) G TS | 3R 11 SFTERUT R 5 |
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Q. 5. Please choose the odd number pair.

(a) 24 : 47 (b)16: 31 (c) 28 : 55 (d)32:65

Q. 6. Four positions of dice are shown below. What number will appear on the opposite to the
face containing the number 3?

Q. 7. In the following list of letters how many O’s are followed by Q’s but not preceded by D’s?
DoQoODbQoOoDODQDOQDSDQPOQDSSSDOQOQDOQDDDOQ

(@) 0 (b) 1 (c) 2 (d) 3

Q. 8. If A stands for ‘+’, M stands for 'x’, D stands for ‘+’, G stands for ‘>’, L stands for ‘<’, then

which of the following will be logically correct?
(a) AA5D3G6A2M3 (b)4A5M4L6D2AS

(c) AD2A4G6D2A4 (d)4A3M2L4D2M6

Q. 9. Arrange the words in alphabetical order:

(A) bright
(B) brisk
(C) brief
(D) bridge

(@) (D)C)A)B)
(b)  (D)C)(B)(A)
(e} (B)(A)D)(C)
(d)  (B)(D)(A)C)
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. 5. U favy S- g g |
(a) 24:47 (b) 16:31 (c) 28:55 (d) 32:65

7. 6. 1 UTA ot IR RUTT s 7S § | T 3 a1t Hoeieh ob Uil o1 1 T feas o

(a) 3 (b) 4 (c) 2 (d) 6

7. 7. Fafafad serl &1 Gt §, fhdm o T § S 918  § Afd 3% Ugd p el 82
DOQODQODODQDOQDSDAPOQDSSSDOQOQDOQDDDOQ
(a) 0 (b) 1 () 2 (d) 3

. 8. T AT 31 4, M BT 31f %, D BT 31 2, 6 BT 31 > 3R L7 31 < B, T FRgfeifaa
A Y oI 1 aifches T Tt ERTT?

(a) 4A5D3G6A2M3 (b)4A5M4L6D2AS

(c) AD2A4G6D2A4 (d)4A3M2L4D2M6

. 9. Wec| ! JUIHTAT v H H TafRyd v

(A) bright

(B) brisk
(C) brief
(D) bridge

(@) (D)C)A)B)
(b)  (D)C)(B)(A)
(e} (B)(A)D)(C)
(d)  (B)(D)(A)C)

JSA-1 Page 5 of 39 B



Q.10. If the first half of the word RESTAURANT is reversed, which of the following will be the

second to the right of the seventh letter from the left end?
(@) A (b) N (c)R (d)T

Q.11. Select the correct mirror image of the given combination when the the mirror is placed at

MN as shown.

M
rym468E

N
@ gebmAi (b) 8apwyn

() 83hmyr1(d g9bmAl

Q.12. Choose the correct alternative from the given ones that will complete the series.

1,8,7,14,15, 21, 25,?
(a) 28 (b) 32 (c)30 (d) 29

Q.13. In the following number series what should come in place of the question mark'?'
3, 7,?,27,-37,63

(a)8 (b) -11 (c)-9 (d) 18

Q.14. Raman runs faster than Mohan, but not as fast, as Kareem. Kareem runs faster than

Suman, but Not as fast as Abhinav. Who runs fastest?

(a) Raman b) Mohan and Kareem (c) Abhinav (d) Suman
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7.10. T Teg RESTAURANT & Ugd 3¢ e &l Idie f&am 9Tg, ol ¢ SR T I1dd 31eR &
T 3R TR R TR B T 3&R T2

(a) A (b) N (c)R (d)T
.11 foU 70 ToieH 1 9Et U1 Bfa I o d giur Y AR MN R @ Tl
M
rym468E
N

@ gehAmAis (b) 8apwyn
() 83bhmy1(d g9bmAi

.12, € 7S fameul B Q el fadmed I o Saa &l R Ham|
1,8,7, 14, 15, 21, 25,?

(a) 28 (b) 32 (c) 30 (d) 29

.13, gy e gae 4, vy forg 2* & RI 0 &1 31 313 e?
3,7,7,27,-37,63

(a)8 (b) -11 (c)-9 (d) 18

.14, TA Hig Y O SISdT 8, Al B RIaHT O el | ST A I Aol SradT 8, A
31 a1 At e | gad O DI dredl 22

(a) T (b) AET AR B () AT (d) A
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Q.15. Arrange these letters of each group to make a meaningful word and then find the odd one

out.

(a) GHIET (b) VEENS (c) VIDEID (d) ORFU

Q.16. Looking in a mirror shows that the time is 1:30 in an analog clock (with hands), then

what is the correct time?

(a) 10 o'clock 30 minutes (b) 6 o'clock 30 minutes

(c) 6 o'clock 10 minutes (d) 4 o'clock 30 minutes

Q.17. The sum of the ages of Sachin and his father is 46 years. Three years back, his father's age

was 4 times of Sachin's age. Find the present age of Sachin?

(a) 11 (b) 8 (c) 15 (d) 12

Q.18. In the following question, select the word which cannot be formed using the letters of

the given word.

MISAPPREHENSION

(a) RESPONSE (b) HAPPINESS (c) PERSON (d) SENSES

Q.19. If '+’ denotes ‘+/, ‘x’ denotes ‘+/, " denotes ‘x’ and ‘+’ denotes -/, then which of the

following is the value of the following expression?

36 x27+9+3-2

(a) 33 (b) 23 (c) 43 (d) 34
Q.20.1f12#3@2=38 and14 @2#3=20then 4#3 @ 1="

a) 15 b) 11 c) 13 d) 16

Q.21. Choose the word which is different from others.

a) Nephew b) Cousin c) Brother d) Sister
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U.15. T T & 3HeRT DI AR b T IY01 Xeg F1¢ 3R R 378 9 N S1aT &,
I I

(a) GHIET (b) VEENS (c) VIDEID (d) ORFU

T.16. U U 3@ TR TG TS] (o0t arel) & T4 1:30 fewrs a1 g, O et wwa @
SRTI?
(a) 10 SST®HR 30 e
(b) 6 SR 30 fAC
(c) 6 SoIHR 10 fAC
(d) 4 ST 30 fAAC

.17. i 3R 39 U1 &1 31 1IN 46 T ¢ | I I8 UG, 3D U &1 311G T B
G BT 4 T A | TR B T g T 82

(a) 11 (b) 8 (c) 15 (d) 12
U.18. FofaRaa Uy & 39 Teg o1 T b3 o) feT 70 Teg & 31&RY BT SUANT HIb ot
ST T b |

MISAPPREHENSION

(a) RESPONSE (b) HAPPINESS (c) PERSON (d) SENSES
T.19. Tfc + BT 3 =, '« BT Y 47, BT 31 ' 3R = 7 3 - g, N FuferRag siftreafad
T A FT R

36 x27+9+3-2

(a) 33 (b) 23 (c) 43 (d) 34

U20.TC12#3@2=-383R14@2#3=20, 443 @1="?

(a) 15 (b) 11 (c) 13 (d) 16
.21. 3 Xeg] & 9 I8 WG g off gai 3 AT 5|
(a) HATSTT (b) BT (c) HTS (d) §gH
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Q.22. In the following question, select the missing number in the table from the options given below.

13 169 961
15 ? 2601
12 144 441
a) 81 b) 361 c) 289 d) 225

Q.23. Please select the right pair from the options given below which shows a relationship as in
the given pair of words.

Ecology: Environment

(a) Histogram: History (b) Biology: Fossiles
(c) Histology: Tissues (d) Genetics: Hormones

Q.24. If FLATTER is coded as 7238859 and MOTHER is coded as 468159, then how is MAMMOTH coded?

(a) 4344681 (b) 4344651 (c) 4146481 (d) 4346481

Q.25. There are deer and peacocks in a zoo. By counting heads, they are 80. The number of their
legs is 200. How many peacocks are there?

(a) 30 (b) 50 (c) 60 (d) 20

Q.26. If the number indicates the number of persons, then how many youth graduates are
there?

Graduates

“mployed

(a) 20 (b) 30 (c) 40 (d) 50
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.22, FRgfeiad uy 9, i fau e fasedi § 9 aiferet § a1 &1 99 $1 |

13 169 961
15 ? 2601
12 144 441
a) 81 b) 361 c) 289 d) 225

.23, HUAT A AU U faswment & T Ut Shst I SNt el &1 <t T8 siret orT Haief feardt 81|
SPHIASI: TTAARTHE
(a) foerm: fexct (b) STATATSHT: ThTRICH
(c) FecTaron: fevg (d) SRfeeT. g

.24, TS FLATTER 17238859 B =0 | IS fhdT 7T § 3R MOTHER 468159 & =0 H
Pifed far T g, 9 MAMMOTH o1 B3 Sifed forar ST

(a) 4344681 (b) 4344651 (c) 4146481 (d) 4346481

.25, T fafsamer & fgRor iR AR € | RRY 3t At 3 IR 3901 T 80 31 37 WRI bt
TS 200 B | T8I fobeH AR &2

(a) 30 (b) 50 (c) 60 (d) 20

v.26. Tfe; T AT o1 e bl &icll &, Tt o Hicteb! T e feber1 82

(Youth = {dI, Graduates = HId®, employed = IR 'Ef)

(a) 20 (b) 30 (c) 40 (d) 50
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Q.27. Which diagram represents the relationship among females, mothers and doctors?

& (a0 @ |(D

(a) (b) (c) (d)

Q.28. Ram started walking from his house in the east direction to Bus stop which is 3 km away.
Then he set off in the bus straight towards his right to the school 4 km away. What is the
distance from his house to the school as the crow flies?

(a) 1 km (b) 5 km (c) 7 km (d) 12 km

Q.29. Find the missing number from the given responses.

0y ) )
(a) 152 (b) 164 (c) 140 (d) 142

Q.30. Which is the smallest Prime Number?
a) O b)1 c)2 d) 3
Q.31. Which of the following represents the numeral for 2949?
(@) MMMIXL (b) MMXMIX (c) MMCMIL (d) MMCMXLIX

Q.32. In a group of buffaloes and ducks, the number of legs is 24 more than twice the number
of heads. What is the number of buffaloes in the group?

(a) 6 (b) 8 (c) 10 (d) 12

Q.33. A man makes his upward journey at 15 km/h and downward journey at 25 km/h. What is
his average speed?

(a)17.83 km/h (b)18.75 km/h (€)19.25 km/h (d)20 km/h
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U.27. DI IT 3G Afgarail, Ararsfi 3R Side! & g Ja¢ ol guiiar g?

& (0@ | D

(@) (b) (c) (d)

.28, X0 30 TR ¥ T4 (G H §9 10 B 3R I L= HRa1 g, o 3 [P R g1 i ag
T T AR G 3T &3 3R HY Wpd o1 3R a1 g, S 4 fpi R g1 I
(SR P13 IS §) SUD TR T DI g3l fabat aIir?

(a) 1 km (b) 5 km (c) 7 km (d) 12 km

U.29. IR U o el & T dUar S @i |

(a) 152 (b) 164 (c) 140 (d) 142
T1.30. TSY BICT 3UTST TBAT (Prime Number) ®1F 1 g2
a) 0 b) 1 c)2 d) 3
.31, FEfiied 8 § ©1F-91 2049 & foQ 9 3idh &1 Ui w82
(a) MMMIXL (b) MMXMIX (c) MMCMIL (d) MMCMXLIX

.32, 491 3R Sl o U g 1, TR &1 e Rkl & TRea o G 3 24 31 § | 9g o
W} Pt T [ g

()6 (b) 8 (c) 10 (d) 12

.33. U AT 3T IS8 1 AT 15 fobril/det &1 1fd T SR 8 S8R - Ia &1 I 25
fpHi/ter o Ifa A Har g | ITH! Siga fa w72

(a) 17.83 fhHl/der  (b) 18.75 fhHI/der () 19.25 foodi/gier  (d) 20 fopHil/Eer
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Q.34. A bag contains 20 balls out of which x are black. If 10 more black balls are put in the bag,
the probability of drawing a black ball becomes double of what it was before. What is the
value of x?

(a)o (b) 5 (c) 10 (d) 20

Q.35. An employer pays Rs. 20 for each day a worker works, and forfeits Rs. 3 for each day he is
idle. At the end of 60 days, a worker gets Rs. 280. For how many days did the worker remain
idle?

(a)28 (b)ao (c)52 (d)60
Q.36. What is the greatest odd number of 4-digits which is completely divisible by 177?
(@)9996 (b)9979 (c)9981 (d)9991

Q.37. If water is frozen to make ice, its volume is increased by 10%, then if the ice is melted to
water again, its volume will be decreased by :

(a) 8% (b)9§% (c) 9 % (d)911—1

Q.38. The top of a broken tree touches the ground at a distance of 15 m from its base. If the
tree is broken at a height of 8 m from the ground, then the actual height of the tree is:

(a)17 m (b) 20 m ()25 m (d)30m

Q.39. The value of

3j(8—5)' (4- 2)+ ﬁ 11s
1 Aas "))
(a) o= (b) = (c) = (d) o

Q.40. How many different 5-digit numbers can be formed using the digits 1, 2, 3, 4, 5 without
repetition?

(a) 120 (b) 150 (c) 100 (d) 200
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U.34.TH A H 2071¢ 8, o A xx w1t 81 Tfe I H 10 3R Tl 7 ST & SIME, Y e
T MBI B TG SUD! UGS B FHTEHT I SRIAT 81 STl 8 | xx T HTH T 62

(a)o (b) 5 (c) 10 (d) 20

. 35. T Il T AoIgR B SUD HH HA dTd TA® o & I 220 ST 8, 3R UdH
&7 & foTT 23 T AT § 1d a8 HTH 151 BTl 60 &1 & 3fd &, Aoigr ! <280 e
& | FoIgR foba & 0 dR @1

(a) 28 (b) 40 (c) 52 (d) 60
7. 36. 17 9 T TRE AU 4-3ip! &) Tad ST fawd Teqr -3 g2
(a) 9996 (b) 9979 (c) 9981 (d) 9991

U.37. afe gt &1 STHT R 96 H IS SE o) STHT I 10% 9 SIal g | Ife 39 T &
iR T Ot H Sga oY, < ST 3mad- fahd- Ufa=Id Ue SIam?

(a) 8% (b) 91/2 % (c) 9% (d) 9 1/11%

T.38. U ¢ §UUS &1 AT I YR Y 15 Hiex B g3t IR o &1 gt g1 3 U 8 Hier
®1 HdE W ELT |, I US & aRdfdd &HdTs fha-l g7

(a) 17 HIex (b) 20 Hiex (c) 25 HieR (d) 30 Hiex
.39, fRgfeifaa sifieafda &1 a9 &
3+|_(8—5)+ (4—2)+{2+§\ |
{ ' L 13} J

(a) = (b) = (c) = (d) =

u.m.ﬁmg;@mqi%%aiwL 2,3, 4,5 BT SUANT B [hd-T S-S 5-3ich] P WY FTS S
Tl 82

(a) 120 (b) 150 (c) 100 (d) 200
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Q.41. The average age of 8 members of a group is 36 years. The age of the eldest member is 32
years. If we exclude the eldest member from the group, then what will be the average age
(in years) of the remaining members?

(a) 38.5 (b) 42.67 (c)48.5 (d) 36.57

Directions : (Q. 42 to 45) — Study the Pie chart carefully and answer the questions.

Students of a college

Non Members
40

Members of football
club only

Members of cricket
club only 5%

Members of both clubs
75%

Q.42. Percentage of students who are not members of any club is :

(a) 5% (b) 8% (c) 10% (d) 6%

Q.43. Number of students who are members of cricket club only
(a) 35 (b) 40 (c) 42 (d) 41
Q.44. Ratio of members of cricket club only and football club only respectively is
(a)1:3 (b)2:1 (c)1:2 (d)3:1
Q.45. The number of students who are members of both the clubs is

(a) 500 (b) 650 (c) 550 (d) 600
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U.41. T g & 8 o D1 3N 311 36 A & | I T UG BI 319 32 94 ¢ | AfE Gad 79
e ! 9g 3 gel fear S, @ [ Hewd! & Sid 311y (Iu1 H) 1 ghite

(a) 38.5 (b) 42.67 (c) 48.5 (d) 36.57

=T : (WY 42 3 45) - UTE TS BT ATYAD AT B 3R U F IR S|

Students of a college

R HeH 40

Had peard 7d B
e
| ol S s G Ea
HAA5%
U.42. S &1 UfId S ot aed & e el & -
(a) 5% (b) 8% (c) 10%
(d) 6%
U.43. B &1 G dad fohbe Fid & I &
(a) 35 (b) 40 (c) 42 (d) 41

U.44. Had forde 39 3R Had Peaid Jad & TGl &1 HH: U § -
(a)1:3 (b)2:1 (c)1:2 (d)3:1
U.45. S P! IR S ST Il b GG § -

(a) 500 (b) 650 (c) 550 (d) 600
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Q.46. When a number is increased by 42, it becomes 121% of itself. What is the number?
(a) 504 (b) 200 (c) 630 (d) 321

Q.47. When a discount of 25% is given on a wedding gown, the profit is 32%. If the discount is
17%, then the profit is.

(a) 46.08 percent (b) 49 percent (c) 51.92 percent (d) 43.16 percent

Q.48. A pipe can fill a tank in 15 minutes and another one in 10 minutes. A third pipe can empty
the tank in 5 minutes. The first two pipes are kept open for 4 minutes in the beginning and
then the third pipe is also opened. In what time will the tank be emptied?

(a) 35 min (b) 20 min (c) 15 min (d) Cannot be emptied

Q.49. Two cars travel from city A to city B at a speed of 30 and 36 km/hrs respectively. If one
car takes 3 hours less than the other car for the journey, then the distance between City
A and City Bis:

(a) 648 km (b) 810 km (c) 432 km (d) 540 km

Q.50. If a cylinder of radius 4 cm and height 8 cm is melted and constructed into a cone of the
same radius, what will be the height of this cone?

(a) 48 cm (b) 24 cm (c) 8 cm (d) 12 cm

DIRECTIONS (Qs.51-55): What value should come in the place of question mark (?) in the
following questions?

Q.51. 3.6+36.6+3.66+0.36+3.0="

a)44.22 (b) 77.22 (c) 74.22 (d) 47.22
Q.52. (2+0.2+0.02 +0.002) ="

a) 2.002 b) 2.022 c) 2.006 d) 2.222
Q.53.16.046 + 2.8 x 0.599 = ? (please mark the approximate value from the options)

(a)3.5 (b)7.9 (c)1.9 (d)5.6

JSA-1 Page 18 of 39 B



U.46. 6 U T H 42 S!St 8, A I8 370 121% & SRIER 81 Sk & | 98 TSI -1 87
(a) 504 (b) 200 (c) 630 (d) 321

U.47.99 U TS & M3 W 253 B Fe ¢l ST g, o M 322 8l &1 I G 172
g, O A T BRI

(a) 46.08 Uf<d (b) 49 UFIRId (c) 51.92 Ufawrd (d) 43.16 U=

U.48. T UIZY 15 e B Th bt 4R Tabvdl § 3R g1 10 e & | et urgu s fiFe & St &l
TTelt HR qH 7 | U8 &l Urgdl o = H 4 e o Gien Sirar 8 $R iR st urgu 1 oft
T ST § | bt Y Wt B | fare =11 THg TA?

(a) 35 e (b) 20 fATe (c) 15 THIE  (d) @Teh o] fooaT &1 Gabdt

U.49. T B G AV TER B dh HHTT: 30 feil/der 3R 36 fortfl/der o1 vfad § aen st 81 i T
PR I HR Y 3 U HH T H T T R 7, A TR A 3R UER B & o Bi g3l fbail g2

(a) 648 T (b) 810 oot (c) 432 fop et (d) 540 oot
U.50. Tf¢ 4 YeTHtex Boam 3R 8 YéiHier Sars aral U da- &1 fUaares 3% s & Mg & a8
gAHfd far ST 8, O 39 W &1 Sams s grie

(a) 48 HHIR (b) 24 TR (c) 8 YR (d) 12 YR
fERT (U 51-55): FafeRad usit o vy f0g () o RIF IR &1 AH ST AT
U.51. 3.6+36.6+3.66+0.36 +3.0="
a) 44.22 (b) 77.22 (c) 74.22 (d) 47.22
T.52. (2+0.2+0.02 +0.002) = ?

a) 2.002 b) 2.022 c) 2.006 d) 2.222

U.53.16.046 + 2.8 x 0.599 = ? (PUAT fabedl ¥ T @A AF fafgd )

(a)3.5 (b)7.9 (c)1.9 (d)5.6
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Q.54./3136 - V1764 =/?

(a)14 (b) 966 (c) 256 (d)196

Q.55.46—3/4 of32-6/37-3/40f (34-6)="?

(@)1 (b) 19/64 (c) 19/16 (d) 2

Q.56. A man gets a discount of 30% and then 20% on his food bill. How much single discount
does he get?

(a) 40% (b) 44% (c) 35% (d) 50%

Q.57. A certain sum amounts to Rs. 29282 in 4 years at 10% per annum, when the interest is
compounded annually. What is the simple interest in Rs. on the same sum for the same
time at the same rate?

(a) 7600 (b) 7900 (c) 8000 (d) 8100

Q.58. Renu has Rs 260 with her, in denominations of 5-rupee notes, 10-rupee notes and 50-rupee
notes. If she has each type of note in equal quantities, then how many ten-rupee notes she
has?

(a) 4 (b) 12 (c) 40 (d) 8

Q.59. Three buckets contain 496 litres, 403 litres, and 713 litres of water respectively. What
biggest size mug can measure water from all the different buckets exactly?

(a) 1 litre (b) 7 litres (c) 31 litres (d) 41 litres

Q.60. Speed of a car on smooth road and rough road is 70 km/h and 50 km/h respectively. If the
ratio of length of rough road to smooth road is 5:7 and total time of journey is 5 hours,
what is the length of the smooth road?

(a) 165 km (b) 175 km (c) 135 km (d) 185 km
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U.54.4/3136 - V1764 =?

(a)14 (b) 966 (c) 256 (d)196

U.55.46-3/4 of 32-6/37—-3/40f (34-6)="?

(@)1 (b) 19/64 (c) 19/16 (d) 2

.56. U fad PI 30 I ad TR T8a 30% 3R fhR 20% B e el 81 39 Hdt
AR forait e firad 82

(a) 40% (b) 44% (c) 35% (d) 50%

U.57. U AT AR 4 auf H 10% A1 o R TR 29282 FTY B Tl 8, TS TS JTAT
T glaT g | ST AR TR FAH A 3R FH & TR FTYRUT A (Rs. H) fba=1 givme

(a) 7600 (b) 7900 (c) 8000 (d) 8100

T.58. 30 & UM 260 ¥ &, ST 5 ¥UY & Alcl, 10 BYY & el 3R 50 T0Y & el | fauiora
g1 Ife 3P UTY UAS YR & ] &t JHH J-AT 7, d IT& U fhar 10 U & A
g2
(a) 4 (b) 12 (c) 40 (d) 8

.59, A dTfccdl & ShHTT: 496 oI, 403 Tiex 3R 713 TR UM g 1 It SreT-31eiT S1feeal T Ul bt
Aop-3iep AT & T T 98 3MPR S HIT BT HR T 81 Tohll 82

(a) 1 @R (b) 7 TeX (c)31¢MeX  (d) 41 ditex

U.60. U HR B1 T1d A1 98 W 70 fhwil/eier 3R Tres! I W so0 fowl/der g1 afg @rasd
TSP B! ddTs 3R R TS Pl ddTs BT 3JUNd 5:7 € R I ST Hd AT 5 B g, df
It TS B faTS fba 82

(a) 165 foodT (b) 175 fop et (c) 135 [ (d) 185 fopt
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Q.61. The length and breadth of a rectangle is increased by 10 percent and 25 percent
respectively. What is the percentage increase in the area of the new rectangle?

(a) 40 percent (b) 15.5 percent (a) 25 percent (d) 37.5 percent

Q.62. What is the value of 10! (10 factorial)?

(a) 55 (b) 100 (c) 3628800  (d) 1000000

Q.63. One liter of milk contains 250 grams of cream and one kg of cream yields 800 grams of
butter. litres of milk will be required to produce 1 kg of butter.

(a)4 (b) 40 (c) 50 (d)5

Q.64. You are driving car at the average speed of 55 kph when you are passed by another car at
average speed of 85 kph. How long will it take for the other car that passed you to be one
Kilometer ahead of you?

(a) 2 seconds (b) 2 hours

(c) 2 minutes (d) It will never be one Kilometer ahead
Q.65.In AABC, £A + £B =65°, £B + £C = 140°, then find 4B.

(a)ao° (b)25° (c)35° (d)20°

Q. 66. Rani can row downstream 20km in 2 hours, and upstream 4km in 2 hours. What will be
the speed of rowing in still water?

(a) 6km/hr (b) 5km/hr (c)4.5 km/hr (d) 7Zkm/hr

Q.67. A student was asked to divide a number by 6 and add 12 to the quotient. He, however, first added
12 to the number and then divided it by 6, getting 112 as the answer. The correct answer should

have been

(a) 143 (b) 138 (c) 122 (d) 136
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U.61. U 3T B a8 3R SIS B HH: 10 U 3R 25 Ufawrd s¢1 fear mar g1 9 3mad &
&=t 7 uferwrd gfg fpait gty

(a) 40 Ufa=Id (b) 15.5 Ufa=Id (c) 25 Ufa=rd  (d) 37.5 Ufa=id
U.62. 10! (10 ThaeINTd) T HH T 87
(a) 55 (b) 100 (c) 3628800  (d) 1000000

U.63. U ciieR gt H 250 UTH HATS gl § 3R 1 ey Tars & 800 T4 ARe- Wl 81T 81 1
fPamm AR s R S fau_ iR gu &l saxgshdr gt

(a)4 (b) 40 (c) 50 (d)5

U.64. 3T 3T HR BI 3G T 55 fafl/der R 7@ 38 &, dv Ot HIR SMmuh! 3fiad T 85
ol €T ¥ IR R S B 1 GO BR BT 3 J U fopaiHiex 3 oM | foa=1 aog @onm?

(a) 2 UFHS (b) 2 € (c) 2 e (d) T8 ®Yt i} T fraHier 3y Fat off uraet

U.65. BT AABCH, LA + 2B =65°, 2B + £C = 140°, I 2B JTd B3|

(a) 40° (b) 25° (c) 35° (d) 20°

U.66. I STSTRIA B 20 foredt 2 6 7 3R ot # 4 frdt 2 6 A UR o Tavct 8 | RR 9 A
I A1d TAM B 7R fobe=t grite

(a) 6 ToHl/EieT (b) 5 fopdi/eer (c) 4.5 fHil/eeT (d) 7 fopdi/eer

U.67. U ST T el 741 UT fob 98 T TR bl 6 T HIT S 3R HITHA H 12 WS | A 39 Uga Tam
H 12 Srg foram iR TR 39 6 & T i, Foraas IRUTRG= 112 UTW 3111 8! STR &1 BT
1T UT?

(a) 143 (b) 138 (c) 122 (d) 136
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Q.68. Please look at the following series. Choose the correct option to replace the ? mark.
8 9 13 22 ? 63

(a) 31 (b) 41 (c) 36 (d) 38

Q.69. Among the following statements, the statement which is not correct is:

a) Every natural number is an integer.
b) Every natural number is a real number.
C) Every real number is a rational number.

d) Every integer is a rational number

Q.70. January 5, 1991, was a Saturday, what day of the week was on March 3,1992?

(a) Saturday (b) Tuesday (c) Sunday (d) Monday

Q.71. Direction: In the question below are given three statements followed by three conclusions
numbered |, Il and Ill. You have to take the given statements to be true even if they seem to be
at variance with commonly known facts. Read all the conclusions and then decide which of the

given conclusions logically follows from the given statements disregarding commonly known
facts.

Statements:

Some chairs are tables.
All tables are wood.
No wood is plastic.

Conclusions:

l. Some wood are chair.
Il. No table is plastic.

M. Some wood is plastic.

(a) Only (I) follow (b) Only (I1) follow
(c) Only (1) and (ll) follow (d) Only (l1) and (III) follow
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U.68. U1 ARfad Saa & o6 | 7% 0% (?) & RIF R el [ddbed I |
8 9 13 22 ? 63

(a) 31 (b) 41 (c) 36 (d) 38
U.69. FafeRad § @ o q1 w7 I8 781 22

(a) T U IcIeh AT U quifeb Bl & |

(b) A WIS e TeAT Uh aRiadh TR eIt 5 |
(c) U aRdfac T-T U URAT =T gl 8|
(d) T uIfer Uk URTg TRe gl |

T.70. 5 SIa<Y, 1991 RFGR AT, Y 3 ATE, 1992 I WTg BT DI JT feT U2
(a) TFAR (b) AITTAR (c) AR (d) THAR

U.71. e TR feu gy § 9 gaden feu e €, f51as are o= s o, 1 3R 1 few e g1 simuepy
faQ U godcl Bl II AT, Hal B 3 ITHR U 8 J1d 9t 9 e ot | gt et ot ug
3R R g fvfa & & fu U gadat @ & a1 e arfdes U & 3ERur a1 8, I

U 3 1d | P ToR 3Tl 3 gu|

dodod:

1. $B PRI cadag|
2. g Ceadbel Bl
3. @5 Wi do sl wifes T8I 3|

fspu:

. .Waﬁfﬁ?l
I. II. B3 it 9 e 8T ]
1 Il. $B Ah Sl W 3|

(a) A (1) SFTIRTT BT & (b) HAT (11) STTROT HaAl &
(c) Pad (1) 3R (11) SFTIRTT H & (d) BT (11) 3R (111) STIRT B &
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Q.72. A child went 90 m in the East to look for his father, then he turned right and went 20 m. After this
he turned right and after going 30 m he reached to his uncle's house. His father was not there.
From there he went 100 m to his north and met his father. How far did he meet his father from
the starting point?

(a) 80 m (b) 200 m (c) 140 m (d) 260 m

Direction: (Qustions 73, 74, 75) Study the following information carefully and answer the questions given
below:

Among five rods, P, Q, R, S and T, the weight of T is 20 kg. The weight of S is half the weight
of P. The weight of Q is one-fourth the weight of P. R's weight is twice the weight of Q. The
weight of P is twice the weight of T.

Q.73. Which rod is the heaviest of all?
(a) P (b)S (c)Q (d)R
Q74. What is the weight of rod S in kg?

(a) 40 kg (b) 10 kg (c) 20 kg (d) 50 kg

Q.75. Which rod is the lightest among all?
(a)P (b) S (c)Q (d)R

Direction: (Questions 76,77,78) The questions are based on the information given below. Read it carefully,
and find out the correct answer from the four alternatives.

There are five persons P, Q, R, S and T. One is football player, one is chess player, and one is hockey
player. P and S are unmarried ladies and do not participate in any game. None of the ladies plays chess
or football. There is a married couple in which T is the husband. Q is the brother of R and is neither a chess
player nor a hockey player.

Q.76. The three ladies are:
(@ P, QR (b) Q, R, S ()P, Q,S (d)P,R,S
Q.77. Who is the chess player?

(@T (b) S (c) P (d)Q
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U.72. T a1 39 fUdT &1 gon o fore gd fa=m & 90 Hiex war, R a8 a1t Gaahe 20 Hier iR 7a|
U §1E 39 R GTE SHR 30 Her Ie & §1G U+ Il & OR Ug dl| Ig1 39 1UaT g1 U
R a8T T a8 100 Hiex ITR M & 7 SR o0 e § et | 39 3o foran 9 uRfyes foig 9

fa-t gt W gareTd oi?
(a) 80 HIeX (b) 100 HeX (c) 140 HIeX (d) 260 HeX
3w (U 73, 74, 75) FEfafed ISR & e A ue iR = fRu mu usi 13w <:

U DS, P, Q R, S IR THY, THT a9 20 fPAUH G| 5 BT T P P I BT YT QBT ISP B
I BT TS AIUTS & | R BT TS Q P a0l BT QAT g | P BT IS T & goi- BT GRAT ] |

0.73. 9t 7 Q 998 4RI B8 S AT 82
(a) P (b) S (c)Q (d) R

U.74. TS s D1 g fbarmd & fea g»

(a) 40 foparITH (b) 10 fFamH (c) 20 T (d) 50 fFammH
0.75. 9 & O Te geb Bl I T 82
(a) P (b) S (c)Q (d) R
3. (U 76, 77, 78) UH R ) TS THHRI WR SMUTRT &1 39 &4 ¥ U 3R IR fddhedl H ¥ T8I SR
|
U A P, Q, R, 5 3R T &1 T70 A Uh Peala (Aas! 3, U Wasl (aans! 7, 3R U gla! Raaret

21 p 3R s 3ifdarfed Afgant § @R fadt 1t Qa1 & w76t A | ¥ W AR ks a1 Beara Te
JeAd! | U faarfgd SieT 8 s 1ufd 81 @, R P IS § SIR T ) Xl sl § 3R 7 8t gt Raensti

U.76. A Afgad 8

(a)P,Q, R (b)Q, R, S (c)P,Q,S (d) P, R, S
U.77. TS (TSt B 82

@T (b) S (c)P (d)Q
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Q.78. Who is the wife of T?

(a) P (b)Q (R (d)S

Q.79. What is the minimum number of colour pencils required to fill the spaces in the below figure with
no two adjacent spaces have the same colour?

(a) 3 (b) 4 (c)5 (d) 6

Q.80. X and Y are brothers. R is the father of Y. S is the brother of T and maternal uncle of X.
What is T to R?

(a) Mother (b) Wife (c) Sister (d) Brother

Q81. A group of friends are sitting in an arrangement one each at the corner of an octagon. All
are facing the centre. Manu is sitting diagonally opposite Rony, who is on Sony's right. Robin
is next to Sony and opposite Gopal, who is on Charu's left. Sally is not on Manu's right but
opposite Gopi. Who is on Gopi's right?

(a) Robin (b) Manu (c) Gopal (d) Rony

Q.82. Find the missing number from the options given below

(a) 343 (b) 512 (c) 729 (d) 1000
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U.78. T®H Udl B G?

(a) P (b)Q (R (d)S

¥.79. =2 &t 77 3n1opfal # e w1 4R & g =gaw fopam T Ayl Y simawasan g1, wafes
Pz U a1 3T WM TH 81 TP 76! g A1ey?

(a) 3 (b) 4 (c)5 (d) 6
U.80. X 3MRYHUS ZIR YBIUAIZI'S, THTHTS SR X BTATHT S| T BT R T T Y 22
(a) AT (b) Tet (c) T8 (d) HTS

U.81. G| 1 U T U SPYS & TP I IR TH-Udh I 86 & | GH BT 9 &g B
3R B1 A, I & faapa I (foRws) ot 8, S At o 18 3R & | Ao A o sr1er
2 SR T & T B, S I o 1 3R 8 | Jeft, A b 1 SR TeT & AfceeT el & ey
21T & <18 3R PH 3172

(a) XMTe (b) T (c) TTaTd (d)

U.82. -i1d faU TN fdemedl T 9w ReAT S1d HifoTg|
B

(a) 343 (b) 512 (c) 729 (d) 1000
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Q.83. What should be the number in place of ? in the following series?
6, 13, 28, 59, ?

(a) 111 (b) 113 (c) 114 (d) 122

Q.84. In a row of 21 girls, when Mona was shifted by four places towards the right, she became
12t from the left end. What was her earlier position from the right end of the row?

(a) 9™ (b) 10t (c) 11th (d) 14t

Direction: In the following questions 85 & 86 you are given a combination of letters/numbers
followed by four alternatives (a), (b), (c) and (d). Choose the alternative which closely resembles
the water image of the given combination.

Q.85.
P1PA2PU
(a) BIbBA2bN (b) bBIbV3bN
(c) BIbV3bN (d) BIBASBN
Q.86. COMMISSION

(@) NOISSINWOD (b) comMI22I04
(¢) CONNI2I0M (d) NOISSINWOD

Directions (Q.87 and Q.88) : Out of the four alternatives (a, b, c, d), please choose the correct
alternative which completes the picture.

Q.87.

frny
i/

~

(@ (b)

() (@

AT A\
M [\
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.83 FofaRad §aa & » & M R S A G- gt A1fgy?
6,13, 28,59, ?
(a) 111 (b) 113 (c)114 (d) 122

U.84. 21 TS[hdl B T Ufad H, ST& AT P SR 3R IR I TR RIFIR a1 T, T 98 918 R
12 AT B TS| U & o BR T 3T Ugd B! fufa o otz

(a) 9df (b) 109t (c) 11df (d) 149F

32T Uy T= 85 3R 86 H AMUD! 3HeRl/HB3l BT T Faio foar mar 8, I9& 98 IR
fa e (a), (b), (c) 3R (d) R TT B | fouw 77w Tiei & wiat ufafda & ga fased &1 9= B |

U.85.

P1PA2PU

(a) bIbAZ2bN (b) bBIbV3bN

(c) bIbV3bMN (d) BIBASBHN
9.86. COMMISSION

(@) NOISSININOD (b) COMMI 2210/
(¢) COWNI2I0M (d) NOISSINWOD

=T (9% 87 3R 88): AT T AR faedl (a, b, ¢, d) T T, FUAT1 98 &I fawed I ol e BT QT
FRAT B

U.87.

(@ Q (b)
() y (d

M [\
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Q.88.

() (b) (c) (d)

Q.89. In a row of letters, a letter is 5" from left end and 12t from the right end. How many
letters are there in the row?

(a) 15 (b) 16 (c)17 (d) 18

Direction (Q.90 and Q.91): Read the given statement(s) and conclusions carefully and select
which of the conclusions logically follow(s) from the statement(s).

Q.90. Statement: The popularity of artificial intelligence has risen exponentially due to its
applications across various industries. However, the rapid pace of development has raised
concerns about the displacement of jobs, as Al systems are capable of performing tasks
traditionally handled by humans.

Conclusions:

(i) The widespread use of Al will result in the loss of jobs in many sectors.

(ii) The rapid development of Al technology raises significant concerns about its impact
on the workforce.

(a) Only conclusion (i) follows

(b) Only conclusion (ii) follows

(c) Both conclusions (i) and (ii) follow
(d) Neither conclusion (i) nor (ii) follows
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U.88.

(a) (b) (c) (d)

.89, 3&R} &1 U Ul &, Teh 31&R o4 SR I 541 3R 310 3R I 1247 o | Ufd & fobdq s1ar g2
(a) 15 (b) 16 (c) 17 (d) 18

&= (U9 90 3R 91): AT MU HYA(Y) 3R Frepef B ea1 B UG SR g e B 1 e anfdhas =0
T BY(T) BT TIOR8

U.90. HY: HHT ST B! Aot it ST & SHb VAT & HRUT ool 3 d¢i g
gTaTifes, faerT &t g fa A Nep it & fawumg & s | fiand sgr &) 8, Fifes wars Ry
URUR® U & AT gRTGHT S a7 B bl 3 H GeH g
. () TairE & U IuhiT 3 URUITHERST B3 &1 H Tl 1 JHar 81|

(n);@;ﬁ@@ﬁﬁ%éﬁﬁ@ﬁwﬁmwsﬂ%uﬁﬁéﬁﬁwwaﬁ
|

(a) Had FSHY (i) STIRTT HAT 8

(b) e B (i) STERVIBRATS

(c) @I Fsae (i) 3R (i) SITTRUT R §

(d) T Y Frsem (i) SR AT &Y (i) SR HRAT R
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Q.91. Statement: While the consumption of processed foods has significantly increased over
the past few decades, the rates of chronic health conditions such as obesity, diabetes, and
cardiovascular diseases have also risen substantially. Public health experts have linked
these trends to poor dietary habits, particularly high sugar and fat content in processed
foods.

Conclusions:

(i) The rise in chronic health conditions is directly linked to the increased consumption of
processed foods.

(ii) The consumption of processed foods is the leading cause of chronic health conditions
in modern societies.

(a) Only conclusion (i) follows

(b) Only conclusion (ii) follows

(c) Both conclusions (i) and (ii) follow
(d) Neither conclusion (i) nor (ii) follows

Q.92. Which of the given answer figures should replace the question mark (?) to have the same
relationship with the third figure?

SRR ?

Answer Figures:

(a) (b) (©) (d)

Q.93. Two positions of dice are shown below. How many points will appear on the opposite to the face
containing 5 points?

(a) 3 (b) 4 (c) 2 (d) 6
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U.91. BYA: U $3 ! & TG d @Ig Uardf &1 9ud & ST 3ia g5 8, J14 5t Jierdr, AYAg
ﬁw%ﬁﬂw@ﬁﬁﬁaﬁﬁﬁmﬁqﬁﬁ%mwﬁmﬁ

g:r\_y%@aﬁwwuﬁaﬁm faRIYe TR d TTe Uardf & 9o I SiR a1 Sl A1
T8 |

s (i) R o fRufadl & 9fS The TR d @ uerdf @ ded @ud A Il 5
(if) ST TATST B QR Ty fRufaal &1 TR RUT UG d W1 Ul &) 9ud 7|

(a) Fad FSHY (i) TRV BT &

(b) B B (i) STV BRATE

(c) @I s (i) 3R (i) SFTERUT AR &

(d) T ar Frsem (i) SR AT &Y (i) TR0 HRAT B

71.92. T U IR S1pfadl H T S It a0y fog (2) B uferfia ==t anfee arfes
ARRY HThTd o 1Y T oo gl

SNG I IN

Answer Figures:

(a) (b) () (d)

71.93. €1 U1 o1 4 fRuferal =<l fawar 78 €1 5 3iepi ael thetep ob fauiet fobef 3feb faams &

(a) 3 (b) 4 (c) 2 (d) 6
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Q.94. A piece of paper is folded and cut as shown in the question figures(A, B, C). From the given answer
figures (a, b, ¢, d) choose the figure that shows how the opened paper will look.

A B C
Answer figures
(a) ol m|[° %
00 00 0o
o o o
© o o ()
(e} o o

Q. 95. If + means +, — means x, X mean +, + means —, then 90+ 18—-6x30+ 4 =?

(a) 64 (b) 65 (c) 56 (d) 48

Q. 96. If it is Thursday after four days then what day was it four days before yesterday?

(a) Monday (b) Tuesday (c) Wednesday (d) Friday

Q. 97. Direction: Count the number of triangles in the given figure.

(a) 22 (b) 23 (c) 19 (d) 20

Q. 98. Ram saw a movie on Monday. Shyam saw the movie two days prior to Gita but three
days after Ram. On which day did Gita see the movie?

(a) Saturday (b) Sunday (c) Monday (d) Tuesday
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U.94. BTl & TP Chs DI U SMHIAA! (A, B, €) T f@TT SIHR HIST 3R FTeT AT 5 | fau T Iw
THT (a, b, ¢, d) T T I MBI BT TT B ol GRTc § (b WAl g3 BT Bl [GETs S|

1 1N\NO O
7’ N\

1y 1

a .v

1 1

1 1

1 |

(a) % ) |°

@ o @]
o

0.05. G+ BTHF 2B - BT x g, x BI3F+ 8 BT3RS -8, A0+ 18-6x30+4=?

(a) 64 (b) 65 (c) 56 (d) 48

71.96. Tf& IR faT a1 ToaR 3, dl &a I IR 37 ugd & wr fa e

(a) JHAR (b) AITTAR (c) JHAR (d) YEHAR
U.97. Fcn: €t 78 st & Aysl &1 we i |
(a) 22 (b) 23 (c) 19 (d) 20

.98, W 7 THAR &) U fhed et | o = Mdr q <t fieq ugd fbed &, afsaym a d=
fam a1e <t | Mo A fber g fga it

(a) TFAR (b) IAAR (c) THAR (d) FTAR
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Q. 99. If in a certain language "NOTEBOOK" is coded as "OQWIAMLG", how is "CRICBUZZ"
coded in that code?

(a) LGASDTWV (b) ASWVDTLG (c) WVDTLGAS (d) DTLGASWV

Q.100. Select the set in which the numbers are related in the same way as are the numbers of
the following set.

(94, 44, 82)

(a) (64, 58, 42) (b) (98, 68, 86) (c) (78, 40, 88) (d) (48, 31, 76)

3k 3 3k 3k %k >k %k 3k %k k k ok k
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.99, T for<ht fa=iy 4Tem & "NOTEBOOK" T "0QWIAMLG" & &0 H Beag (Hiss) frar g, ot
"CRICBUZZ" B 3T HIS H Hd forar Sraam?

(a) LGASDTWV (b) ASWVDTLG (c) WVDTLGAS (d) DTLGASWV

7.100. 39 GHE BT I9 H3 rad Gt I8 ueR | Fefid 8 o) Fafifad g9z ot ged|

(94, 44, 82)

(a) (64, 58, 42) (b) (98, 68, 86) (c) (78, 40, 88) (d) (48, 31, 76)

3k 3 3k 3k 3k >k %k %k %k k k ok k
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